<#UG VERSION=3>

<DRIVER VERSION=hsfmodem-6.03.00lnxt04111500full>

<CALL SETUP RESULT=Detected Data Answer Tone>

<MULTIMEDIA MODE=Data Only>

<DTE-DCE MODE=Async data>

<V.8 CM="">

<V.8 JM="">

<RX SIG PWR DB=0, TX SIG PWR DB=0, S/N RATIO DB=0>

<RTD=-29>

<TX MOD=V.32bis, TX SYMBOL RATE=2400, TX CARRIER FREQ=1800>

<RX MOD=V.32bis, RX SYMBOL RATE=2400, RX CARRIER FREQ=1800>

<TX FIRST RATE=14400, RX FIRST RATE=14400>

<CARRIER LOSS=0, RATE RENEG=0>

<RETRAINS REQ=0, RETRAINS DET=4>

<TX FINAL RATE=14400, RX FINAL RATE=14400>

<PROTOCOL=LAPM>

<EC FRAME SIZE=80>

<EC LINK TIMEOUTS=0>

<EC LINK NAKS=0>

<COMPRESSION=V44>

<COMPRESSION DICTIONARY SIZE=800>

<TX FLOW CONTROL=2>

<RX FLOW CONTROL=2>

<TX CHARS SENT FROM DTE=2250>

<RX CHARS SENT TO DTE=E83B>

<TX CHARS LOST=0>

<RX CHARS LOST=0>

<TX FRAME COUNT=58>

<RX FRAME COUNT=1B4>

<TX FRAME ERROR COUNT=A>

<RX FRAME ERROR COUNT=2>

<TERMINATION CAUSE=DTR drop>

<CALL WAITING EVENT COUNT=0>

<LSD Vdd=0, Power Bits=0>

<V8BIS DSP VER=0>

<RATE RENEG REQ=0, RATE RENEG DET=0>

<RBS=0, AltRBS=0>

<DIG PAD DET=0, DIG LOSS EST=0, IMD RATIO=0, SPEED DROP=0>

<HS CNT=0, Det1=40, Res1=72, LAPM=5>

<EQM=0, TRAINING EQM=0>

<HandShake Time=0.0>

<DIB ERROR COUNTERS=0, 0, 0, 0, 0, 0, 0, 0>

